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Integrala nedefinita

1. Sa se calculeze:

1.1. /(x3+x2+x—2) dx. 1.2. /(x5+1:4+x2+x3+1) d.
1 1 1 3—x—2a
1.3. -t — ) da. 1.4. T g
r  x?  x3 3
3 1 3 2 1 3
x x
1.7. /(:1:;) +23) da. 1.8. /(\/5+ V) dx.
1.9 / 3x2—i—i+“x5 de. 1.10 / \/E+i3dx
2 4
1.11. / T g 1.12. / g
2+ 1 2+ 1
1— 3 1 + 3x2
1.13. /ﬂ da. 1.14. /i de.
cos? 22(1 4 222?)
2 2 6 _ .2 1
1.15, /&QH}’ dz. 1.16, /u dz.
sin® z 2 +1
2 d
L7 /sing(:)rsco;x d. L.18. /sin2:vgcc082x'
1.19. /s.in2£ dzx. 1.20. /COSQE dx
2 2
x A 4T R
1.21. /<00s5—81n§> dx. 1.22. /(COS E—sm 5) dx
1.23. /thx dz. 1.24. /cthx dx.
1.25. /(3%” +37%)" da. 1.26. /ex (1+ - ) dz
sin®
3—13
1.27. 2% dx. 1.28. 32+ dx
1 — 22
3* +4* 2 3
1.29. dzx. 1.30. — d
o [ ! /(m 1+x2> ’
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2. Sa se calculeze:

2.1. /(21; +5)° dx. 2.2. /(395 —7)° dx.
2.3. /(4 — )" dx. 2.4. / V(2x —7)° du.
3

2.5, / i (1 _ g) da. 2.6. /\/3:1: 7 du.
2.7. /Sin Sz dx. 2.8. /sin (3x — 2) dx.
2.9, /cos Az dx. 2.10. /cos (3 — g) dx.
2.11. / dr 2.12. /d—x.

cos? Tz cos? (% — 3)
2.13, / ar 2.14, /2d—x

sin® § sin® (3 — 2x)

dx dx
2.15. e — 2.16. .
/\/1—4:62 /\/4—562

2.17. / de 9.18. / do

1+ 922 1+ 2

dx dx
2.19. . 2.20.
/ r+1 / 3r—1

2.21. /e—x dz. 2.22. /eSH dx.
2.23. /23”1 dx. 2.24. /51—% dx.

3. Sa se calculeze:

3.1. /(x2+3x+1)10(2x+3)da:. 3.2, /\/3—2:U+x2(x—1)dx.

3.3. /\3/953 —8 2% dx. 3.4. /\/x4 +1 2% dx.
2r — 3 6 —7
3.5. —_— dz. 3.6. — dx.
/x2—3:1:—|—7 . /3x2—7x+10 v
VAT ‘
3.7. dz. 3.8. e cosz dx.
vr+1 /



arcsin x
€

it ®

3.11. /e”’st dz.
3.13. /cossxsinx dz.
3.15. /Smf da.
cos® x
d
3.17. / .
zlnzx

V(14 1nz)?
3.19. /# dx

t 2
3.21. /arc &L .
1+ 22

3.9.

arcsin®z — 1
3.23. —_ dzx.
V1—a?

3.25. /dm
SINnxT

2.T
397, [ 2 g
/\/1—41 .

3.29. /32z2+$—1 (42 +1) dz.

4. Sa se calculeze:

1
/—sm—dfv
d
4.3, / = .
sin®x + 4 cos? x

4.5. / - Otgx dx
3sin2x + 5cos? x

In arcsin x

4.7. dz.
v1 —z?arcsinz

ctg 2z to 2
4.9, / e

sin? 2x

cos®

4.11.
Vsinzx

dz.
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earctgz + 1
3.10.
/ 1+ a?
3.12. /sm xcosx dx.
3.14. /sm rcosx dr.
cosT
3.16.
/1—|—281I1:E
3.18.
/m Inz+2)
(1 4
3.20. / Dt
arctg2x + x
3.22. dzx.
/ 1+422
394, / /arccosx
d
3.96. / <
cosx
6x — 7
3.28. dx.
/ 322 — 7w+ 10
3.30. /:ve

4.2. /#

A4, /d—“r2
1+ sin“x

8+t
4.6. / - 2+ 6% dx.
18 sin” x + 2 cos? x

1+z 1
4.8. | . dx.
8 /nl—x 21"
410, /Md
(14+x)x
dx
221+ 22

4.12.
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413, / de .
V—8 — 6z — a2

z+1
4.15. — dx.
/x2—x+1 .

14+ 1
4.17. /”1_1’.1_3; dx.

Tx+ 3
4.19. )
9 /x2+4d:v

191, / 3cosx + 2sinz

(3sinx — 2 cos x)?

5. Sa se calculeze:

5.1 /xsmx dz

5.3. /:U2 sinx dx

2.5. /xe"’ dx

5.7. /:Ee?’x dz

5.9. /:Elnx dz.

5.11. /(x2+x—|—1)lnx dz.
5.13. /x"lnx dr , n e N.
5.15. /xarctga: dz.

5.17. /arccost dz.

5.19. /x23m dz.

5.21. /er sinzx dx.

5.23. /cos (Inx) du.

dx.

4.14

4.16.

4.18.

4.20

4.22.

0.2.

0.4.

0.6.

0.8.

5.10.

5.12.

5.14.

5.16.

0.18.

5.20.

5.22.

0.24.

/ dx
' 22 +4x+5"
3r2 — 2x
— dx.
/:c3—m2+1 v
et —1
dz.
/e””+1 v

/ dx

' Va+

/ 3cosx — 2sinx
(2cosx + 3sinx)?

dzx.

/:Ecosx dz.

/(x2 — x4+ 1)cosz dx.
r2e” dx.

(2* + 2 — 1)e” du.
*Inz dr.

Inz dx.

2 dx.

In
arctgx dx.

arcsin® x dz.

x2*

2
&

e* cosz dx.

— S S S S S S S S

sin (Inz) dz.
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5.25. /l;
S~ T

5.27. / arctg @

xr2

6. Sa se calculeze:

/ (x _3;))_(;_ 4)

dx
/ (x+2)(x—1)
dx
/ (x —=3)(z —2)(x+ 1)

22+ 2x+2

6.1. dz.

6.3.

6.5.

23 — 322 + 3z
(x —1)(x —2)

6.7. dzx.

dx
(x —=2)(zx+ 1)(z+2)

6.9.

6.11.

t/ﬂx+®@—U@+$

/

dx
/ r(r+1)2(x +2)3°

7. Sa se calculeze:
7.1. / :c?»djis‘
7.3. /(x+1§lzfp2+2)'
75. / x?’ﬁ—l
7.7. / xfj :

6.13.

6.15. dzx.

6.17.

or — 1
(z —1)*(z - 2)

6.19. dz.

6.21.

dx.

dzx.

dzx.

dzx.

X.

7.2.

7.4.

7.6.

7.8.

5.26.

5.28.

6.2.

6.4.

6.6.

6.8.

6.10.

6.12.

6.14.

6.16.

6.18.

6.20.

6.22.
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x
cos? x

arcsin &

V1t x

dx.

dx.

2+ 5

/ G- D@16

z+1

/ (x +2)(x+3) de.

/m3+3x2+3x+1
z(x + 2)(xz + 3)

dx.

/21;4—5:52—8:1:—8
x.

z(r —2)(x+2)

/xz—x—9
2 —2x—6
2+ 2x —11

| e
| o=

/ (x+1)2(x +2)%(z—1)

dz.

dx.

dz.

1
Tt dzx.

dz.

dx

| v

dx.

dx

/ (x —2)(x —4)(x% + 22+ 2)

| s+

-1
x dx.
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79 /x3+4x2+3x+2
o (:v+1)2(:£2~|—1)

dx
A1, .
’ /x2(x2—2x+2)

~1
7.13. /:c_2 dz.
(22 +1)

2
7.15./ Gk
(x —2)(x2+1)

i [ 2
(22 +4)

7.19. / AT

8. Sa se calculeze:

8.1 / dx
o 3sinx +4cosx
d
8.3, / _dr
sinx — cosx
3sinx + 2cosz
8.5. —
sin® x cos © + 4 cos3 x
87 / sinz(1 + sin? ) .
Ccos 2x
8.9. /cos 2x cosdx dx.
8.11. /sinxsinSa: dz.
8.13. /sinxcos 3z dx.
8.15. /sin2 2 cos® 2z dx.
8.17. /sin2 xcost z dx.
8.19. /sin2 xcos®x dx.
8.21. /0085 x dx.

dz.

7.10.

7.12.

7.14.

7.16.

7.18.

7.20.

8.2.

8.4.

8.6.

8.8.

8.10.

8.12.

8.14.

8.16.

8.18.

8.20.

8.22.

/ z(2? + 22 + 10) i
(x+1)°@2—z+1)

/ 322 — 6z + 1
5 dx
(x +1)°(322 — 8z +9)
/x4+2x2 +4
(a2 +1)°

/ 3r +1
—— dux.
(1 + x?)
/ 3r +5
5 dx
(2 +2x 4 2)

/2x4+5x2 —2 .

dx.

203 —x — 1

dx

sin 2x + cos? x

dx
3sinz +4cosz+ 5

sinx + 3cosx
2

T.
xcosx + cosdx

sin
08 z(1 + cos® x)

in®z(1 + sin® z)

dz.

wn | O

cos 3z cos x cos bx dx.

sin 2z sin 42 sin 6x dzx.

sin 2z cos 4x cos 6 dx.

4

sin* x cos* x dx.

sin® z cos® = dzx.

3

sin® x cos® x dx.

3

sin® z cos® = dx.
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